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QUESTION 1

During a simu-lation run, a simu-lation definition may be associated with _________. 

A. one what-if scenario for a single process 

B. multiple what-if scenarios for a single process 

C. multiple processes and one what-if scenario for each process 

D. multiple processes and multiple what-if scenarios for each process 

Correct Answer: C 

 

 

QUESTION 2

Which two case elements can have due dates configured? (Choose two.) 

A. Case 

B. Case data 

C. Events 

D. Milestones 

E. Activities 

Correct Answer: AB 

 

 

QUESTION 3

Which is a capability of Web Form rules? 

A. altering execution of an unbounded ADF task flow 

B. inserting validation rules into an ADF page that a BPM Studio wizard has generated 

C. encoding-business policies that can be easily modified by end users at run time 

D. populating a dynamic drop-down list by accessing a RESTful service 

Correct Answer: D 
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QUESTION 4

You have a situation where a collection of rules might provide a flexible way of externalizing logic in an application. 

Which two are accurate considerations to access as you decide to use a decision table or if-then rules? (Choose two.) 

A. The decision table\\'s spreadsheet metaphor is compact and familiar to end users. 

B. Decision tables can use globals while if-then rules cannot. 

C. The logic likely requires more rules if expressed as a decision table. 

D. Unlike with a decision table, an Expression Builder is provided for if-then rules to help you craft condition
expressions. 

E. Built-in error prevention features for decision tables can help you build more complete and accurate rules. 

Correct Answer: BE  

 

QUESTION 5

Which two statements accurately describe how Oracle Web Services Manager works? (Choose two.) 

A. On the client side, the agent coordinates a pipeline of policy interceptors that apply policy assertions to the request in
a standardized, predetermined order. 

B. On the service side, policy assertions are processed in reverse order of the client side before the request is delivered
to the service. 

C. On the client side, the policy manager coordinates a pipeline of agents that apply policy assertions to the request in
the order specified by the developer. 

D. On the service side, policy assertions are processed in the same order as on the client side before the request is
delivered to the service. 

Correct Answer: AB 
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